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Performance Measurement Plan

As a recipient of a Regional Mobility Grant (RMG), you are required to submit a Performance Measurement Plan (PMP) detailing the methodology you will use to track and calculate reductions in Vehicle Trips (VT) and Vehicle Miles Traveled (VMT) resulting from your grant funded project.  An approved PMP must be submitted to WSDOT as the first order of business following execution of the grant agreement.  At the discretion of WSDOT, grant recipients can amend PMPs in certain situations (e.g., changes in funding availability), so they need to be as accurate as possible for the planned effort.

The PMP has been prefilled by WSDOT with information from your grant application where possible.

General Organization Information
	Legal Name of Organization
Click here to enter text.

	DBA (if applicable)
Click here to enter text.

	Federal ID Number 
Click here to enter text.
	Statewide Vendor Number
Click here to enter text.

	Mailing Address
Click here to enter text.

	Main Office Address (if different from mailing address)
Click here to enter text.

	Phone Number
Click here to enter text.

	Organization Director
Click here to enter text.
	Director Email Address
Click here to enter text.

	Applicant Contact
Click here to enter text.
	Applicant Contact Email Address
Click here to enter text.

	Project Contact
Click here to enter text.
	Project Contact Email Address
Click here to enter text.

	PMP Contact
Click here to enter text.
	PMP Contact Email Address
Click here to enter text.



Project Title
	Click here to enter text.


Total Awarded Dollar Amount
	Click here to enter text.


Type of Project
	Click here to enter text.


Short Project Description
	This project will purchase two new buses to serve the Route 4 and a new route (Route 4B) in Llama Town. The existing bus is a 30ft. The new buses are 30ft and 45ft.  A portion (but not all) of Route 4B serves the same path as the existing Route 4 and it is expected that some passengers will move from Route 4 to 4B, which will provide better service, and access to different destinations.  Both Route 4 and Route 4B are expected to be in operation for the 4-year measuring period and beyond.


Estimated date for when the project will be operationally complete (i.e., open to the public and providing public benefits). This is when performance measurement begins. 
	1/1/2021


What Vehicle Trip (VT) and Vehicle Miles Traveled (VMT) reductions were estimated for your project to achieve in Year 1 and Year 4?

	
	VT
	VMT

	Year 1 reductions
	Click here to enter text.	Click here to enter text.
	Year 4 reductions
	Click here to enter text.	Click here to enter text.


For each of the 4 years after your project is operationally complete you will track and estimate changes in VT and VMT. 

What data will you collect, and how will you collect it?
	Ridership and average distance traveled on both routes will be measured quarterly using a sampling technique in line with NTD’s Sampling Manual.
The sampling will track how many passengers board the bus, and where they board and get off. 
The average distance traveled will be measured for each of the two routes and each quarter separately. 
Route 4 will be measured for one year prior to the roll out of the project to set baselines for ridership and distance.
The sample will be extrapolated to represent numbers for the entire quarter, and the sum of the four quarters will be the yearly total. 
As this bus route is primarily for commuting, only ridership for workdays will be considered towards VT and VMT reductions.
We assume each quarter has 62.5 working days.


What, if any, assumptions will you make to convert your measurement to VT and VMT changes? Provide citations where possible. 
	There is no change to Route 4. The bus currently on that route has the same capacity as the one it will be replacing. Therefore, no VT or VMT reductions will be attributable to replacing the bus that services that route.
Some passengers on Route 4B were previously served by Route 4. The VT and VMT associated with passengers that switch routes is not attributable to this project’s reductions.
Some passengers on Route 4B are new riders, and their VT and VMT reduction will be attributed to the project.  
Freed capacity on Route 4 may attract new riders and their VT and VMT reduction will be attributed to the project.  


How will you calculate VT changes from your data collected and assumptions? Show your calculations.
	VT Reduction = Ridership on Route 4† + Ridership on Route 4B†† - Baseline Ridership on Route 4†††

This assumes that the total ridership for both Routes 4 and 4B, minus the ridership for Route 4 before Route 4B began service, equals the numbers of new riders.  Credit for reduction in VT and VMT is given for new riders only.  

†Ridership on Route 4 = Sum of all four quarters of ridership on Route 4 

††Ridership on Route 4B = Sum of all four quarters of ridership on Route 4B

†††Baseline Ridership on Route 4 = Sum of all four quarters of ridership on Route 4 the year before operation of Route 4B began

Note: Ridership for each quarter will be extrapolated from Sample for each quarter.  See note above about workday assumptions.



How will you calculate VMT changes from your data collected and assumptions? Show your calculations.
	VMT Reduction = VMT on Route 4† + VMT on Route 4B†† - Baseline VMT on Route 4†††

† VMT on Route 4 = Sum of the average of distance (based on where people board and get off) traveled for Route 4 * ridership for Route 4, extrapolated for each quarter

†† VMT on Route 4B = Sum of the average of distance (based on where people board and get off) traveled for Route 4B * ridership for Route 4B, extrapolated for each quarter

†††Baseline VMT on Route 4 = Sum of the average of distance (based on where people board and get off) traveled for Route 4 for the year before operation of Route 4B began

Notes: 
The calculation used to determine VMT for each route first calculates VMT * ridership for each quarter and then adds the four quarters together.
i.e.: (Q1 Average VMT * Q1 Ridership) + (Q2 Average VMT * Q2 Ridership) + (Q3 Average VMT * Q3 Ridership) +(Q4 Average VMT * Q4 Ridership)
We do not average the VMT and multiply it by the average of ridership, because that does not produce an accurate number.
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